Relaciones Inversas (H)

12 x 24 =288
24x =288
288 +24=
288+ =24

19 x 24 = 456
24 x =456
 +24=19

456+ 19=

23 x 16 =368
16x23=_
368 + 16 =

368 23 =

10 x 20 = 200
20% =200
200+ =10

+10=20

18 x 23 =414
 x18=414
414+ =18
414 +18=

Llene los espacios.

11 x11=121
11 x11=

121 =11 =

~11=11

21 x 17 =357
_ x21=357
357+ 17=

357+ =1

17 x 20 = 340

20 % =340

340 +20=_
~17=20

24 x 21 = 504
20%x24=
504+21=
504+ =21

14 x 10 = 140
. x14=140
140 = 10 =

140+ =1

25 x 10 =250
10x =250

+10=25
250+ =10
16 x 20 = 320
20%16=_
320+ =16
320+ 16=_
12 x 13 =156
 x12=156
156+ =12
= 12=13
19 x 11 =209
. x19=209
209+ =19
209+ =11
10 x 25 =250
25x =250
250+25=_
250+ =25

25 x 20 = 500
20%x25=_
500+ =25
500+25=_
18 x 24 = 432
24 x =432
= 24=18
432 +18=
24 x 18 =432
18x =432
432+ =24
432 +24=
19 x 24 = 456
_ x19=456
456+ =19
456 +19=_
24 x 19 = 456
19x =456
456+ =24
456+ =19
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Relaciones Inversas (H) Respuestas

12 x 24 = 288
24 x 12 =288
288 +24= 12
288+ 12 =24
19 x 24 = 456

24 x 19 =456
456 +24=19
456+19= 24
23 x 16 = 368

16x23= 368
368+ 16= 23
368+23= 16
10 x 20 = 200

20 % _10_=200
200+ 20 =10
1200 +10=20
18 x 23 =414

23 x18=414
414+ 23 =18
414+18= 23

Llene los espacios.

11x11=121
11x11= 121
121 +11= 11
121 +11=11
21 x 17 =357

17 x21=357
357+ 17= 21
357+ 21 =17
17 % 20 = 340

20 x 17 =340
340 +20= 17
340 +17=20
24 x 21 =504

21 x24= 504
504 +21= 24
504+ 24 =21
14 x 10 = 140

10 x 14 =140
140 +10=_14_
140+ 14 =10

25 x 10 =250
10 x 25 =250
250 +10=25
250+ 25 =10

16 x 20 = 320
20 16=_320_
320+ 20 =16
320+ 16= 20

12 x 13 =156

13 x12=156
156+ 13 =12
156 +12=13

19 x 11 =209
11_x19=209
209+ 11_=19
209+ 19 =11

10 x 25 = 250
25x 10 =250
250+25= 10
250+ 10 =25

25 x 20 = 500

20 x25=_500
500+ 20 =25
500 +25= 20
18 x 24 =432

24 x 18 =432
432 +24=18
432+ 18= 24
24 x 18 =432

18 x 24 =432
432+ 18 =24
432 +24= 18
19 x 24 = 456

24 x19=456
456+ 24 =19
456 +19= 24
24 x 19 = 456

19 x 24 =456
456+ 19 =24
456+ 24 =19
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